Unique Auctions Catalogue 19 Jul 2017

- 1 A Viking VX-Team mountain bike £20.00 £30.00
- 2 A child's Apollo mountain bike £10.00 £20.00
- 3 2 shelves of assorted glass ware £10.00 £20.00
- 4 A bread bin, knife block and tray £8.00 £10.00
- 5 A boxed universal wheel clamp £10.00 £20.00
- 6 9 suitcases including vintage £10.00 £20.00
- 7 A quantity of DVD's £10.00 £20.00
- 8 An art pottery dog, a German stein, a jug and a figure £8.00 £10.00
- 9 2 shelves of assorted kitchen ware £20.00 £30.00
- 10 A shelf of assorted glass ware including carnival glass bowl £10.00 £20.00
- 11 A mixed lot including wooden bowl, vases etc £10.00 £20.00
- 12 A shelf of art items including paints £10.00 -£20.00
- 13 An Alfa sewing machine £10.00 £20.00
- 14 An illuminating globe £15.00 £20.00
- 15 A yellow glass handkerchief bowl £5.00 £10.00
- Approximately 22 pieces of Denby pottery £20.00 -£30.00
- 17 100 240V 60W light bulbs with bayonet fitting £10.00 £20.00
- 18 A quantity of fire irons, fire grates etc £10.00 £20.00
- 19 2 kitchen chairs £5.00 £10.00
- 20 4 books on horses and racing £10.00 £20.00
- 21 A Cypriot stoneware wine carafe and goblet set £8.00 £10.00
- 22 A mixed lot of lead crystal and other glass £10.00 £20.00
- 23 A large quantity of photo and picture frames £10.00 £20.00
- 24 A quantity of luggage and hand bags £10.00 £20.00
- 25 7 large coloured glass brandy goblets £10.00 £20.00
- 26 A collection of books on cars and trains etc £8.00 £10.00
- 27 A cruet set, carriage clock, brassware etc £10.00 £20.00
- 28 A mixed lot of china and glass £10.00 £20.00
- 29 A caravan mirror, tools etc £10.00 £20.00
- 30 A quantity of basket ware £5.00 £10.00
- 31 An 18 piece tea set and a sandwich set £10.00 £20.00
- 32 A quantity of DVD's, CD's and cassette tapes £10.00 £20.00

- 33 2 shelves of vintage fabric, towels etc £10.00 -£20.00
- 34 A mixed lot including miniature Doulton jug, motto ware, Mauchlin box etc £10.00 £20.00
- 35 A figure group entitled 'Love by the brook' £5.00 £10.00
- 36 3 shelves of kitchen ware including slow cooker, sandwich toaster pots and pans etc £20.00 £30.00
- 37 A large blue and white platter together with 7 Wedgwood blue and white royalty collectors plates £10.00 £20.00
- 38 A shelf of glass ware £10.00 £20.00
- 39 A games compendium £10.00 £20.00
- 40 A collection of children's books including Hippo books, I Spy, Observer, Rupert etc £10.00 £20.00
- 41 2 DVD players £10.00 £20.00
- 42 A collection of DVD's including Ultimate Matrix, boxed sets etc £10.00 £20.00
- 43 2 foot stools and a petrol can, a/f £10.00 £20.00
- 44 A quantity of Lilliput lane cottages etc £20.00 £30.00
- 45 A quantity of camera's etc £10.00 £20.00
- 46 4 pairs of vintage sports shoes a/f, A pair of Barker shoes, a pair of Loake Loafers and other clothing accessories £10.00 £20.00
- 47 A linen bin, stools, magazine rack etc £10.00 £20.00
- 48 3 clocks and 2 framed and glazed prints £10.00 £20.00
- 49 A quantity of small Bosson's heads £10.00 £20.00
- 50 2 shelves of assorted mugs £10.00 £20.00
- 51 A mixed lot including Aynsley £10.00 £20.00
- 52 A table lamp and 3 glass paperweights £10.00 £20.00
- 53 A quantity of poppy decorated tea ware etc £10.00 £20.00
- 54 A shelf of assorted books £10.00 £20.00
- A mixed lot of metal ware including figures, lamp, fire irons, brass figure etc £10.00 £20.00
- 56 A vintage hat and hat box £10.00 £20.00
- 57 A mixed lot including fishing reels, brass plaque, wall clock, stirrup pump, blow torch etc £10.00 £20.00
- 58 A boxed Alba radio £10.00 £20.00
- 59 A mixed lot of needlework items and accessories £10.00 £20.00
- 60 A picnic basket and a linen basket £10.00 £20.00
- 61 A Spode biscuit barrel and an a/f Chinese base

1

	£10.00 - £20.00
62	A pair of table lamps £8.00 - £10.00
63	A quantity of CD's £10.00 - £20.00
64	A copper coal scuttle, copper bowl etc £10.00 - £20.00
65	A croquet set £10.00 - £20.00
66	A gold bag, clubs, umbrella's etc £20.00 - £30.00
67	5 folding chairs £5.00 - £10.00
68	A quantity of garden tools £10.00 - £20.00
69	A leather arm chair and stool £20.00 - £30.00
70	A leather arm chair and stool £20.00 - £30.00
71	A large aluminium ladder £20.00 - £30.00
72	A pair of 2 seat sofa's £20.00 - £30.00
73	An ottoman £8.00 - £10.00
74	A storage stool £10.00 - £20.00
75	A storage stool £10.00 - £20.00
76	A low garden stand/table £10.00 - £20.00
77	A draw leaf table £10.00 - £15.00
78	A wrought iron standard lamp £10.00 - £15.00
79	A telephone table £5.00 - £10.00
80	A good put-u-up bed £15.00 - £20.00
81	A dralon pouffe £5.00 - £10.00
82	A box of curtains and a box of towels £10.00 - £20.00
83	A Fridgemaster work top fridge £10.00 - £20.00
84	A quantity of garden pots £10.00 - £20.00
85	A Flymo mower and a Black and Decker strimmer $\pounds 20.00$ - $\pounds 30.00$
86	2 oil filled radiators £10.00 - £20.00
87	A garden table with parasol £10.00 - £20.00
88	A teak coffee table £10.00 - £15.00
89	A Corby trouser press £10.00 - £15.00
90	A wrought iron standard lamp £10.00 - £20.00
91	2 sets of plastic drawers £10.00 - £15.00
92	A long formica topped table £10.00 - £20.00
93	A Vorweck vacuum cleaner £10.00 - £15.00
94	A 1930's dressing table £10.00 - £20.00
95	A teak book case £10.00 - £20.00
96	4 shelves of books £10.00 - £20.00
97	2 linen bins, towels etc £10.00 - £20.00
98	A modern cabinet £10.00 - £20.00
99	2 white bedside cabinets £10.00 - £15.00
100	A computer desk £8.00 - £10.00
101	A 5 drawer chest £10.00 - £15.00
102	A microwave oven £10.00 - £20.00
	A A

An Ariston automatic washing machine £10.00 -

10	4 A microwave oven £10.00 - £20.00
10	5 A Bosch automatic washing machine £20.00 - £30.00
10	6 A White Knight spin drier £10.00 - £20.00
10	7 A Bosch dish washer £20.00 - £30.00
10	8 A glazed mahogany effect book case £20.00 - £30.00
10	9 A teak book case £10.00 - £20.00
11	O A glass topped coffee table, glass a/f £10.00 - £20.00
11	1 A quantity of boots and shoes £10.00 - £20.00
11	2 A 1930's sideboard £10.00 - £20.00
11	3 A teak bureau £10.00 - £20.00
11	4 A Bosch fridge freezer £20.00 - £30.00
11	5 A mahogany effect wall unit £10.00 - £20.00
11	6 A 1930's wardrobe £10.00 - £20.00
11	7 A quantity of clothes airers £5.00 - £10.00
11	8 2 1930's wardrobes £10.00 - £20.00
11	9 A teak wall unit £15.00 - £20.00
12	O A good collection of books on archeology and R.A.F. £10.00 - £20.00
12	4 boxes of assorted books including gardening, nature, painting, photography etc £10.00 - £20.00
12	2 A step ladder £8.00 - £10.00
12	2 shelves of assorted tins, pottery etc £10.00 - £20.00
12	4 12 colour prints of Lancaster bomber aeroplanes by Gerald Coulson £10.00 - £20.00
12	5 4 EPNS trays £10.00 - £20.00
12	2 Country Artist's model steam locomotives - LMS Streamline Princess Coronation Class "Princess Alice" and BR 61XX Prairie class £10.00 - £20.00
12	7 6 Carlton ware dishes, some a/f £10.00 - £20.00
12	8 A quantity of door mats etc £10.00 - £20.00
12	9 A towel rail £10.00 - £15.00
13	0 A coal effect electric fire £20.00 - £30.00
13	1 A shelf of sewing items £10.00 - £20.00
13	2 A quantity of 45 rpm records from 1970/80/90's £10.00 - £20.00
13	A 2 door mahogany sideboard with centre bank of 5 drawers £30.00 - £40.00
13	4 2 mannequin torso's £10.00 - £20.00
13	5 An oil on canvas of a village winter scene signed Bill Makinson £10.00 - £20.00
13	6 An oil on canvas of an autumn woodland and lake signed Bill Makinson £10.00 - £20.00
13	7 An oval cheval mirror £10.00 - £20.00
13	8 A table lamp with shade £10.00 - £15.00
13	9 A display cabinet £10.00 - £20.00

A mahogany effect cabinet £10.00 - £20.00

140

£20.00

103

141	An oil on canvas of a village cricket match signed Bill Makinson £10.00 - £20.00	175	A Gotham big shot bagatelle board and 1980's electronic game 'Missile strike' £10.00 - £20.00
142	A Toshiba television £20.00 - £30.00	176	A garden planter as a boot and one other £10.00 -
143	A large red vase £10.00 - £20.00		£20.00
144	A 2 over 3 chest of drawers £20.00 - £30.00	177	5 large and 2 small bottles of wine £10.00 - £20.00
145	A wrought iron table lamp with shade £10.00 - £15.00	178	7 framed and glazed 19th century engravings £10.00 - £20.00
146	A framed and glazed country scene £10.00 -	179	A quantity of bags and purses £10.00 - £20.00
	£20.00	180	A pair of 3 lamp wall lights £40.00 - £60.00
147	A mixed lot of trophies £10.00 - £20.00	181	A cased Hitachi Video camera/recorder VN-"300E
148	A 1950's cabinet £15.00 - £20.00	100	(UK) £10.00 - £20.00
149	A wrought iron stand £8.00 - £10.00	182	A large late Imari vase and 2 lidded oriental jars £10.00 - £20.00
150	A book case £10.00 - £20.00	183	A mixed lot including copper kettle, travelling
151	A quantity of books £10.00 - £20.00		inkwell etc £10.00 - £20.00
152	A cast iron pan, a shoe last, flat iron, pestle and mortar, weights etc £10.00 - £20.00	184	A mixed lot of cutlery £10.00 - £20.00
153	A decanter and glasses £10.00 - £20.00	185	A 19th century stoneware plate, an Edwardian Spode plate, Minton tray etc £10.00 - £20.00
154	3 shelves of assorted tea ware, place mats, trays etc £10.00 - £20.00	186	2 boxes of tools etc £10.00 - £20.00
155	3 framed and glazed prints £10.00 - £20.00	187	A decanter, champagne flutes etc £15.00 - £20.00
156	A mixed lot of silver plate £10.00 - £20.00	188	2 shelves of miscellaneous china £10.00 - £20.00
157	A quantity of games including Monopoly £10.00 - £20.00	189	A collection of theatre and music programmes including Lee Evans, Frank Skinner, Celine Dion,
158	A mixed lot of cutlery etc £10.00 - £20.00		Fame, Starlight Express etc, a quantity of Elvis Presley paper back books and 3 other music
159	A mixed lot of badminton and table tennis		books £10.00 - £20.00
	equipment £10.00 - £20.00	190	A travel cot £10.00 - £20.00
160	A Pelham ventriloquist dummy £25.00 - £35.00	191	2 large candle holders £10.00 - £20.00
161	A copper warming pan and a small scuttle £10.00 - £20.00	192	8 oriental lidded ginger jars and a teapot £10.00 - £20.00
162	A mixed lot of CD's £10.00 - £20.00	193	A green glass trinket set £10.00 - £20.00
163	2 barometers £10.00 - £20.00	194	A Juliana golden eagle clock £10.00 - £20.00
164	A quantity of cigarette and tea cards £10.00 - £20.00	195	A mixed lot of collectible china including Blue Mountain dog a/f, Royal Crown Derby Mikado
165	2 cut glass jugs and 3 other items £10.00 - £20.00		Plate, Royal Doulton, Wedgwood etc £10.00 - £20.00
166	6 lawn bowls £10.00 - £20.00	196	A box of plate stands £10.00 - £20.00
167	A quantity of prints including birds, fox hunting,	197	An art glass bowl £10.00 - £20.00
160	countryside etc £10.00 - £20.00	198	2 pottery rabbits and a cat £10.00 - £15.00
168 169	A mixed lot of Christmas items etc £10.00 - £20.00 2 large cushions and 2 smaller ones £10.00 -	199	2 Perrier humorous golf prints and a print of a squirrel £10.00 - £20.00
170	£20.00 2 chargers and 4 plates of Wedgwood Clarice Cliff	200	A schoolgirl's straw boater by Olney £10.00 -
	ware, 4 Royal Worcester 'Legends of the Nile'	201	£15.00
	plates, 3 Wade spirit barrels and a Wade Whisky bell £20.00 - £30.00	201 202	A mantel clock £10.00 - £20.00 A mixed lot of glass including salts, napkin rings
171	A large quantity of photo frames £10.00 - £20.00	202	etc £10.00 - £20.00
172	4 oriental blue and white ginger jars £10.00 - £20.00	203	A quantity of small floral watercolours and other pictures £10.00 - £20.00
173	2 Union Of Democratic Mineworkers commemorative plates and a coal mine telephone	204	A Nintendo Wii console with games and a Nintendo DS console with games £10.00 - £20.00
	· · · · · · · · · · · · · · · · · · ·		
174	by Fernsig Essen £10.00 - £20.00 4 glass birds and fish £10.00 - £20.00	205	2 shelves of miscellaneous garden pots and ornaments etc £10.00 - £20.00

3

206	2 clocks, a barometer and a wooden box £10.00 - £20.00		WW1, WW2 etc £10.00 - £20.00
207	A quantity of magazines including celebrity etc	240	A signed miniature cricket bat, England women V India women 2006 £10.00 - £20.00
208	£10.00 - £15.00 A box of LP records £10.00 - £20.00	241	A cased Besteck Solengin canteen of cutlery £20.00 - £30.00
209	A pair of glass lustre candle holders, a decanter	242	A small sofa table £10.00 - £20.00
	and an art deco lustre lady figure £10.00 - £20.00	243	14 trinket boxes £10.00 - £20.00
210	A mixed lot including small brass items, pipes etc	244	A Stylophone 350S, a/f £10.00 - £20.00
211	£10.00 - £20.00 A book rack and books £10.00 - £20.00	245	Approximately 20 pairs of Lunette Loupe reading glasses £10.00 - £20.00
212	A quantity of art glass including signed and an amber glass trinket set £10.00 - £20.00	246	2 Pelham puppets including skeleton (requires restringing) £10.00 - £20.00
213	A quantity of oil lamp parts £20.00 - £30.00	247	An embroidered fire screen £10.00 - £20.00
214	Approximately 100 boxing magazines, 1950's to 2000's £10.00 - £20.00	248	In excess of 20 Coronation Street caricature prints
215	2 framed and glazed sets of footballer cigarette	249	£10.00 - £20.00 A quantity of walking sticks £10.00 - £20.00
	cards and framed and glazed silks £10.00 - £20.00	250	A student violin with bow in case £10.00 - £20.00
216	2 vases and a jug £10.00 - £20.00	251	A bar stool £10.00 - £15.00
217	2 Smiths and a Metamec retro mantel clocks	252	A retriever figure and a kiwi figure £10.00 - £15.00
218	£10.00 - £20.00 A collection of 007 James Bond books including	253	3 boxes of books including political, law, travel etc
	'The Life of Ian Fleming' £10.00 - £20.00	254	£10.00 - £20.00
219	A music centre £10.00 - £20.00	254	A table lamp with shade £10.00 - £15.00
220	A quantity of old tins etc £10.00 - £20.00	255	A large floral jug and basin set £10.00 - £20.00
221	A Singer sewing machine £10.00 - £20.00	256	A mixed lot including treen money box, cork screws etc £10.00 - £20.00
222	A quilt and other linen £10.00 - £20.00	257	A quantity of books £10.00 - £20.00
223	A bench grinder and a metal spinning motor £20.00 - £30.00	258	A Victorian copper kettles, an art nouveau silver plated epergne and other items £20.00 - £30.00
224	A large old fire grate £10.00 - £20.00	259	A retro landscape tiled top coffee table £10.00 -
225	2 boxes of medical books etc £10.00 - £20.00	259	£20.00
226	2 Tilley Lamps, stoneware jar etc £10.00 - £20.00	260	A contemporary Staffordshire figure, The Rival
227	2 vintage suitcases £10.00 - £20.00		£10.00 - £20.00
228	A large box of tools including wood saws £10.00 - £20.00	261	A contemporary Staffordshire figure, Princess Eugenie £10.00 - £20.00
229	An uplighter standard lamp £10.00 - £20.00	262	A contemporary Staffordshire figure £10.00 -
230	A canteen of cutlery and a cased pair of fish servers £10.00 - £20.00	263	£20.00 A quantity of wrist watches including ladies
231	A set of Avery scales £10.00 - £20.00		Rotary £10.00 - £20.00
232	A 1960 Bonzo annual £10.00 - £20.00	264	A DKNY wrist watch £10.00 - £20.00
233	A quantity of rulers, measuring tape etc £10.00 - £20.00	265	A quantity of foreign coins and bank notes including Nigeria, India etc £40.00 - £60.00
234	A pair of Staffordshire dogs, a pair of spaniels, a	266	2 good fishing reels £20.00 - £30.00
	lidded bowl, jug etc £20.00 - £30.00	267	A mixed lot including Belleek £10.00 - £20.00
235	A 3 tier what not £10.00 - £15.00	268	A cased W H Hayes & Son concrete strength
236	A mixed lot including Meccano, Spirograph, wooden Rhino, tortoises, clock £10.00 - £20.00	269	meter £10.00 - £20.00 2 Lladro geese and a pair of Siamese blue and
237	A Smith's clock and one other £10.00 - £20.00		white figures £10.00 - £20.00
238	A metal based table and a magazine rack £10.00 - £20.00	270	A Saxony figure of a girl with geese and goslings £10.00 - £20.00
239	Approximately 20 packs of reproduction 20th	271	A mixed lot of costume jewellery £10.00 - £20.00
-	century historic memorabilia including Titanic,	272	A quantity of new wrist watches and a pocket

	watch £10.00 - £20.00	306	2 table lamp bases £10.00 - £20.00
273	A car 'dash-cam' camera £10.00 - £20.00	307	A quantity of tea, cigarette and chewing gum
274	A box of costume jewellery including necklaces £10.00 - £20.00	308	cards £10.00 - £20.00 An etched glass lamp shade, a cranberry glass
275	A quantity of commemorative crowns with other		salt with silver rim etc £15.00 - £20.00
	British and foreign coins and bank notes £10.00 -	309	A bedside cabinet £10.00 - £15.00
276	£20.00 A quantity of scientific instruments and tools etc	310	A mixed lot including tea pot, cake stand, figures etc £10.00 - £20.00
077	£10.00 - £20.00	311	A triple dressing table mirror £10.00 - £20.00
277	A boxed vintage table lighter and ashtray £10.00 - £15.00	312	A miniature chest of drawers, missing one drawer £10.00 - £20.00
278	A mixed lot of jewellery including pearls £10.00 - £20.00	313	A pair of adjustable silver plate candlesticks and a pair of brass candlesticks £20.00 - £30.00
279	A cased microscope £10.00 - £20.00	314	A plant stand £10.00 - £20.00
280	2 metal caskets and a hand bag mirror £10.00 -	315	A basket of china items £10.00 - £20.00
281	£20.00 3 wrist watches, a/f £10.00 - £15.00	316	A quantity of children's books, dolls and a Paddington bear £10.00 - £20.00
282	A Victorian bracelet set seed pearls £10.00 - £20.00	317	A quantity of Mason & Cash stone ware items £10.00 - £20.00
283	A silver plate crumb tray with horn handle £10.00 -	318	An oval coffee table £10.00 - £20.00
284	£20.00 A signal lamp £10.00 - £20.00	319	A mixed lot of silver plate and brassware including
285	2 pocket watches together with a quantity of		horse brasses, condiment set etc £10.00 - £20.00
200	ladies and gents wrist watches including Sekonda, Ross Kopf, Citizen Seiko, Lorus etc £10.00 -	320	A cased canteen of cutlery with additional cutlery £10.00 - £20.00
	£20.00	321	An oriental tea set £10.00 - £20.00
286	A mixed lot of costume jewellery £10.00 - £20.00	322	A plant stand £10.00 - £20.00
287	A mixed lot of coins etc £10.00 - £20.00	323	A cork scene in glass case £20.00 - £30.00
288	A quantity of glass marbles £10.00 - £20.00	324	5 porcelain trinket/pill boxes including Limoges £10.00 - £20.00
289	A mixed lot of costume jewellery £10.00 - £20.00	325	
290	A mixed lot of costume jewellery £10.00 - £20.00	326	2 table lamps £10.00 - £15.00
291	3 large wooden gavels £10.00 - £20.00	327	A Victorian tea set £10.00 - £20.00
292	A Wurzell Gummidge figure with interchangable heads £10.00 - £20.00	328	A Singer sewing machine £10.00 - £20.00 A collection of art and art history related books
293	2 pairs of binoculars £10.00 - £20.00	220	£10.00 - £20.00
294	A boxed set of 6 place mats £10.00 - £20.00	329	3 vintage pouffe's £8.00 - £10.00
295	A mixed lot of beads, glass baubles etc £10.00 - £20.00	330	A collection of sports related books £10.00 - £20.00
296	A set of vintage building blocks etc £10.00 - £20.00	331	A quantity of tools £10.00 - £20.00
297	A box of assorted hand bags etc £10.00 - £20.00	332	A tool chest etc £10.00 - £20.00
298	A box of 45 rpm records £10.00 - £20.00	333	2 boxes of books £10.00 - £20.00
299	A quantity of clown dolls £10.00 - £20.00	334	A box of LP records £10.00 - £20.00
300	2 boxes of linen, tea towels etc £10.00 - £20.00	335	A suitcase and contents £10.00 - £20.00
301	A box of vintage dolls £10.00 - £20.00	336	A Nintanda Wii eta 510.00 - £20.00
302	A Singer sewing machine £10.00 - £20.00	337	A Nintendo Wii etc £10.00 - £20.00
303	2 boxes of Christmas ornaments, some vintage	338 339	A pair of lawn bowls £8.00 - £10.00 A quantity of magnifiers £10.00 - £20.00
66 :	£10.00 - £20.00	340	An Edwardian oak coal box £20.00 - £30.00
304	A cased snooker cue, a cricket bat and tennis rackets etc £10.00 - £20.00	341	7 brass miner's lamps £10.00 - £20.00
305	A Singer sewing machine £10.00 - £20.00	342	3 commemorative pieces including Royal British
200	- g-:gacc 2.0.00	U7Z	Legion, Wedgwood and Aynsley together with 2

Legion, Wedgwood and Aynsley together with 2

BidMaster Office

5

	Limoges pieces £10.00 - £20.00	379	3 boxes of assorted books £10.00 - £20.00
343	A cast German metal pharmacist figure group and	380	A quantity of vintage games etc £10.00 - £20.00
344	an unusual candle stand £15.00 - £20.00 A plant stand £10.00 - £20.00	381	A quantity of 45 rpm records from 1970/80/90's £10.00 - £20.00
345	2 cases of glass and 35mm slides £10.00 - £20.00	382	A box of PC equipment including Sony £10.00 -
346	A wicker Moses basket and a quantity of old dolls		£20.00
	£10.00 - £20.00	383	A box of miscellaneous including ice skates
347	2 large old Hamlyn movie books £10.00 - £20.00	004	£10.00 - £20.00
348	A wrought iron stand £10.00 - £20.00	384	An electric coal effect heater £10.00 - £20.00
349	A quantity of chandelier parts £10.00 - £20.00	385	A Toshiba television DVD player combination £10.00 - £20.00
350	A stool and a pouffe £8.00 - £10.00	386	A mahogany occasional table £10.00 - £20.00
351	A brass bell and other items £10.00 - £20.00	387	A 31 day mantel clock £10.00 - £20.00
352	A large quantity of photographic items £20.00 -	388	A 3 drawer chest £10.00 - £20.00
353	£30.00	389	An ottoman £10.00 - £20.00
354	A single chair £5.00 - £10.00 4 boxes of books £10.00 - £20.00	390	A Rustic coffee table £20.00 - £30.00
		391	A box of light switches etc £10.00 - £15.00
355	A box of football magazines and programmes £10.00 - £20.00	392	A sewing box and contents £10.00 - £20.00
356	A tool box and tools £10.00 - £20.00	393	A 5 drawer chest £10.00 - £20.00
357	A box of LP records £10.00 - £20.00	394	2 small rustic coffee tables and one other £20.00 -
358	A quantity of new paintbrushes and other tools		£30.00
	£10.00 - £20.00	395	A painted stool £5.00 - £10.00
359	3 boxes of vintage fabric including linen, towels etc	396	A drop side trolley £10.00 - £20.00
000	£10.00 - £20.00	397	A blanket box £10.00 - £20.00
360	A tool box and contents £10.00 - £20.00	398	A mahogany effect coffee table £10.00 - £20.00
361	2 boxes and an album of stamps £10.00 - £20.00	399	A Girl Guide scarf etc £10.00 - £20.00
362	A tripod wine table £10.00 - £15.00	400	A quantity of 78 rpm records including pre WW2
363	A tea set, cheese dish and teapot £10.00 - £20.00	404	£10.00 - £20.00
364	A Kitchen stool £5.00 - £10.00	401	A 2 drawer filing cabinet £10.00 - £20.00
365	A quantity of aeroplane and helicopter military models including Syma radio controlled Chinnook	402	A magazine rack £8.00 - £10.00
	£10.00 - £20.00	403	A gate leg table £10.00 - £20.00
366	A boxed corn-grain-cereal mill, a mincer and a	404	A drop leaf table £10.00 - £20.00
	shoe stretcher £10.00 - £20.00	405	A large quantity of figures £10.00 - £20.00
367	A mixed lot of plates, figures etc £10.00 - £20.00	406	An old office desk £10.00 - £20.00
368	9 framed and glazed prints £10.00 - £20.00	407	A large tin trunk £10.00 - £15.00
369	A tapestry frame £10.00 - £20.00	408	A leather ottoman £10.00 - £20.00
370	2 Roy Kirkham cups and saucers together with 5 other cups and saucers £10.00 - £20.00	409	An oak wash stand £10.00 - £20.00
371	A quantity of model vehicles including military	410 411	A mixed lot of cutlery £10.00 - £20.00
371	Dinky, Crescent, Corgi etc £10.00 - £20.00	411	A piano stool £10.00 - £15.00
372	A quantity of glass ware including cranberry, smoked glass, commemorative etc £10.00 - £20.00		A pair of lawn bowls in leather case £10.00 - £15.00
373	A CD storage cabinet £10.00 - £20.00	413	A drop side table £10.00 - £20.00
374	A quantity of framed and glazed prints £10.00 -	414	A glazed book case £10.00 - £20.00
J1 1	£20.00	415	A book case £10.00 - £20.00
375	An angling collage in glass case £8.00 - £10.00	416	A mahogany effect cupboard £10.00 - £20.00
376	A framed and glazed village scene £10.00 - £20.00	417	A mahogany box and contents £10.00 - £20.00
377	A box of chandelier parts £10.00 - £20.00	418	An oak side table with barley twist supports £10.00 - £20.00
378	3 boxed of assorted books £10.00 - £20.00		2.0.00
	_		

419	A brass topped table with antler base £10.00 - £20.00	458	A quantity of table lamps etc £10.00 - £20.00
420	A canteen of cutlery £10.00 - £20.00	459	2 framed and glazed oil paintings and one other £10.00 - £20.00
421	A 2 over 2 chest of drawers £10.00 - £20.00	460	A dressing table £10.00 - £20.00
422	A contemporary Staffordshire figure group £10.00 -	461	2 tool boxes and tools £10.00 - £20.00
423	£15.00 A small bureau £10.00 - £20.00	462	14 pieces of Crown Devon china including biscuit barrels, vases etc (some items a/f) £10.00 - £20.00
423 424	A teak drop leaf table £10.00 - £20.00	463	An oak dresser £20.00 - £30.00
	·		4 stools £10.00 - £20.00
425	A circular dining table and 4 chairs £20.00 - £30.00	464	
426	A quantity of prints on canvas and mirrors £10.00 - £20.00	465	A military cupboard with drop handles £20.00 - £30.00
427	2 boxes and 2 cases of LP records £10.00 - £20.00	466	A tin trunk full of oil lamp parts £40.00 - £60.00
428	A painted chest of drawers £20.00 - £30.00	467	A Pine desk £10.00 - £20.00
429	3 gilt framed prints £10.00 - £20.00	468	A hose pipe £10.00 - £15.00
430	An oak refectory style table and 6 chairs £20.00 - £30.00	469	A framed and glazed country scene £10.00 - £15.00
431	2 large art glass bowls and a vase £10.00 - £20.00	470	A pine framed mirror £10.00 - £20.00
432	3 framed and glazed big cat prints £10.00 - £20.00	471	An oil on board fox hunting scene signed H
433	An ultra compact press and a trouser press		Fletcher £10.00 - £20.00
	£10.00 - £20.00	472	A dressing table £10.00 - £20.00
434	An oak draw leaf table £10.00 - £20.00	473	12 pieces of James Kent Old Foley china
435	A contemporary Staffordshire figure, Princess Eugene £10.00 - £15.00	474	including jugs £10.00 - £20.00 An oil on board woodland scene £10.00 - £20.00
436	A mahogany occasional table £10.00 - £20.00	475	A stool, bed pan, brass bin and stone ware hot
437	A cased set of 78 rpm records £10.00 - £20.00		water bottle £10.00 - £20.00
438	An ottoman £8.00 - £10.00	476	A 5 drawer chest £10.00 - £20.00
439	4 framed and glazed prints £10.00 - £20.00	477	A modern wall clock £10.00 - £20.00
440	2 wooden clothes horses £10.00 - £15.00	478	An oil on board moorland scene £10.00 - £20.00
441	A 1930's combination bedroom unit £10.00 -	479	A foot stool £8.00 - £10.00
	£20.00	480	A pine bedside cabinet £10.00 - £20.00
442	A quantity of die cast models £10.00 - £20.00	481	A 3 drawer chest £10.00 - £20.00
443	A 5 lamp glass chandelier £20.00 - £30.00	482	A pair of hunting scenes £10.00 - £20.00
444	An oil on canvas of ducks in flight £10.00 - £20.00	483	A hunting scene and 2 other pictures £10.00 -
445	A pair of framed and glazed watercolours £10.00 - £20.00	484	£20.00 A mixed lot including ship in bottle £10.00 - £20.00
446	A blue patterned rug £8.00 - £10.00	485	An oak book case £10.00 - £20.00
447	A modern cabinet £10.00 - £20.00	486	A box of miscellaneous including clock, radio etc
448	A book case £10.00 - £20.00	400	£8.00 - £10.00
449	2 coloured glass lamp shades £10.00 - £15.00	487	A teak corner unit and a teak base unit £10.00 -
450	A quantity of framed and glazed prints £10.00 -		£20.00
	£20.00	488	12 pieces of Hornsea Fauna china £10.00 - £20.00
451	A vintage suitcase £10.00 - £15.00	489	A large book case £20.00 - £30.00
452	A wardrobe £10.00 - £15.00	490	A quantity of owl figures etc £10.00 - £20.00
453	A dressing table £10.00 - £15.00	491	A quantity of CD's and DVD's £10.00 - £20.00
454	2 linen bins and a hat box £10.00 - £20.00	492	A quantity of travel clocks etc £10.00 - £20.00
455	A quantity of porcelain ornaments etc £10.00 -	493	A shelf of brass ornaments etc £10.00 - £20.00
AEG	£20.00	494	A shelf of miscellaneous ornaments etc £10.00 - £20.00
456 457	2 wall mirrors £10.00 - £20.00	495	A quantity of Star Wars fact files £10.00 - £20.00
40/	A 1930's cupboard £10.00 - £20.00		

496	A quantity of comics including Batman £10.00 - £20.00	536	A mixed lot including meat platters, cheese dish, trinket set etc £10.00 - £20.00
497	A mirror frame (24" x 36"), 2 veneered frames	537	5 boxes of tools £20.00 - £30.00
	(10.5" x 9") and a gilt frame (16" x 22") £10.00 - £20.00	538	2 wooden garden figures and a wooden trough £10.00 - £20.00
498	2 step ladders £10.00 - £20.00	539	A Lec fridge freezer £20.00 - £30.00
499	A wall mirror £10.00 - £15.00	540	2 framed and glazed prints £10.00 - £20.00
500	A large collection of assorted tins £10.00 - £20.00	541	A 33I Mini combo oven £20.00 - £30.00
501	A metal and wood book shelf £10.00 - £20.00	542	A Hoover washer drier £20.00 - £30.00
502	An arm chair £8.00 - £10.00	543	A bamboo conservatory suite £20.00 - £30.00
503	A grey arm chair £10.00 - £20.00	544	2 1970's Ercol armchairs and foot stool £20.00 -
504	A cream arm chair £10.00 - £20.00		£30.00
505	A black arm chair £10.00 - £20.00	545	A 2 tier ladder £20.00 - £30.00
506	An electric recliner chair £10.00 - £20.00	546	A large quantity of clocks and clock parts £20.00 -
507	A brown leather sofa £20.00 - £30.00		£30.00
508	A floral stool £8.00 - £10.00	547	3 boxes of LP records £10.00 - £20.00
509	A beige arm chair £10.00 - £20.00	548	2 folding garden chairs £10.00 - £15.00
510	A wing backed arm chair £10.00 - £20.00	549	An aluminium step ladder £10.00 - £15.00
511	A black arm chair £10.00 - £20.00	550	A wheel chair £10.00 - £20.00
512	A green three piece suite £10.00 - £20.00	551	A side table and a folding table £10.00 - £15.00
513	A pink 3 piece suite £10.00 - £20.00	552	3 folding chairs £10.00 - £15.00
514	An oval framed bevel edged mirror £10.00 - £20.00	553	A pedestal drill and other tools £20.00 - £30.00
515	A quantity of prints £10.00 - £20.00	554	A golf trolley, bag and clubs £10.00 - £20.00
516	A drop leaf table and 4 chairs £20.00 - £30.00	555	2 folding chairs and a stool £10.00 - £15.00
517	2 baskets of miscellaneous china £10.00 - £20.00	556	A quantity of brooms £8.00 - £10.00
518	A box of LP records £10.00 - £20.00	557	2 Bentwood chairs £10.00 - £15.00
519	An oval framed mirror £10.00 - £20.00	558	A Mountfield petrol mower £40.00 - £60.00
520	An oval brocade arm chair £10.00 - £20.00	559	2 large speakers £10.00 - £20.00
521	An oak refectory table and 6 chairs £20.00 - £30.00	560	A tin trunk £10.00 - £20.00
522	In excess of 40 pieces of Aynsley china £10.00 - £20.00	561	2 boxes of Dandy and Beano annuals £10.00 - £20.00
523	A sack truck and a step ladder £10.00 - £20.00	562	A pine cupboard £10.00 - £15.00
524	A quantity of garden tools £10.00 - £20.00	563	A quantity of assorted tools £10.00 - £20.00
525	An oil on board African scene £10.00 - £20.00	564	2 step ladders £10.00 - £20.00
526	A circular saw on bench £40.00 - £60.00	565	A mixed lot of tools £10.00 - £20.00
527	A box of miscellaneous china £10.00 - £20.00	566	A silver coloured Servis fridge freezer £20.00 -
528	2 bedroom chairs £10.00 - £15.00		£30.00
529	A quantity of garden tools £10.00 - £20.00	567	A silver coloured Hotpoint automatic washing machine £20.00 - £30.00
530	A folding work bench £10.00 - £15.00	568	A folding walking aid £10.00 - £15.00
531	A step ladder and a ladder £10.00 - £20.00	569	A 4'6" divan bed complete with mattress and metal
532	A quantity of garden tools £10.00 - £20.00	309	headboard £20.00 - £30.00
533	An oil on canvas still life singed Kadia Eadie, an	570	A quantity of garden tools £10.00 - £20.00
	oil on board woodland scene and a nostalgic print	571	A pine trunk £10.00 - £20.00
5 0 :	'Too Early' after Tissot £10.00 - £20.00	572	A stainless steel kitchen stand £10.00 - £20.00
534	A quantity of tools etc £10.00 - £20.00	573	A bench vice £10.00 - £20.00
535	2 framed reproduction Cadbury's posters and a mirror with advertising decoration to frame £10.00 -	574	A hedge trimmer £10.00 - £20.00
	£20.00	575	2 step ladders £10.00 - £20.00
			•

576	A set of 4 BMW 16" alloy wheels with tyres £300.00 - £400.00	613	A patterned rug £20.00 - £30.00
577	3 boxes and a case of assorted LP records £10.00	614 615	A pair of chairs £5.00 - £10.00 A mahogany occasional table £10.00 - £20.00
570	- £20.00	616	A box of tools £10.00 - £15.00
578	A mixed lot of tools etc including mitre saw £10.00 - £20.00	617	A striped armchair £10.00 - £15.00
579	A mixed lot including clocks, trays, prints etc	618	An extending table and 4 chairs £20.00 - £30.00
580	£10.00 - £20.00 A large board with painting of 2 ladies under hair	619	A 1950's Raleigh Lenton ladies sports bike £20.00 - £30.00
000	dryers £10.00 - £15.00	620	A mountain bike £10.00 - £20.00
581	A mixed lot including fan, heater etc £10.00 -	621	A Peugeot racing bike £20.00 - £30.00
	£20.00	622	A large carpet, 12'1" x 9'3" £20.00 - £30.00
582	An electric Singer sewing machine £10.00 - £20.00	623	A radiogramme £10.00 - £20.00
583	A box of miscellaneous items including binoculars £10.00 - £20.00	624	A mirror backed sideboard £20.00 - £30.00
584	A set of 4 garden chairs for restoration £10.00 -	625	An art nouveau wardrobe with leaded glass decoration (missing base) £20.00 - £30.00
505	£20.00	626	A mixed lot of tools £10.00 - £20.00
585	A large quantity of books £10.00 - £20.00	627	A sideboard £10.00 - £20.00
586	2 deck chairs £10.00 - £20.00	628	3 paste tables £10.00 - £20.00
587	A shabby chic overmantel mirror £10.00 - £20.00	629	An oak dresser £20.00 - £30.00
588	2 mirror panels £10.00 - £20.00	630	A mixed lot of tools £10.00 - £20.00
589	2 boxes of tools £10.00 - £20.00	631	A painted cupboard, missing doors £10.00 - £15.00
590	2 tool boxes £10.00 - £20.00	632	A black coffee table £10.00 - £20.00
591	A small pine table £10.00 - £15.00	633	A portable typewriter £10.00 - £20.00
592	A glass topped bamboo coffee table £10.00 - £20.00	634	A mahogany wall cabinet £20.00 - £30.00
593	A pine stand with cane drawer £10.00 - £20.00	635	A mixed lot of tools £10.00 - £20.00
594	A dressing table £10.00 - £20.00	636	A Victorian mahogany chest of drawers £30.00 - £40.00
595	A mixed lot of wooden items £10.00 - £20.00	637	2 vacuum cleaners £10.00 - £20.00
596	A bureau £10.00 - £20.00		A corner shelf £8.00 - £10.00
597	2 painted chairs £10.00 - £15.00	638 639	2 folding chairs £8.00 - £10.00
598	An oak corner cabinet £20.00 - £30.00	640	4 vintage suitcases £10.00 - £15.00
599	A cabinet and a folding table £10.00 - £15.00	641	A box of miscellaneous items £10.00 - £20.00
600	A loom style chair £10.00 - £20.00	642	2 glass and chrome television stands £10.00 -
601	An oak occasional table £10.00 - £20.00	042	£15.00
602	A Vax vacuum cleaner £10.00 - £20.00	643	A black glass and chrome stand £10.00 - £20.00
603	An aluminium dustbin, incinerator etc £10.00 - £20.00	644	A mixed lot of tools £10.00 - £20.00
604	A book case £10.00 - £20.00	645	A blanket box £10.00 - £20.00
605	A bedroom chair £10.00 - £15.00	646	A painted chair £5.00 - £8.00
606	A 4'6" Divan bed complete with mattress £20.00 -	647	A pink sofa £10.00 - £20.00
000	£30.00	648	A set of 4 alloy car tyres suitable for Landrover sport or discovery £100.00 - £120.00
607	A grey rug £10.00 - £20.00		sport of discovery £100.00 - £120.00
608	A grey rug £10.00 - £20.00		
609	A grey rug £10.00 - £20.00		
610	A pair of armchairs, a pouffe and a foot stool £10.00 - £20.00		
611	A patterned rug £10.00 - £20.00		
612	A Chinese wool rug £20.00 - £30.00		